Thursday January 23 Deter. the definition of a product converging absolutily is: RECALL: "II (1+2n) converges desolutely" Theorem 1.9: let FGJ=2'+fG)n⁻⁵ where more Z'lant converts. f is multiplicative. Thes FBSD has Heusistic fer Theorem 1.9: the Euler product $TT = \left(1 + f(2) 2^{-5} + f(2^{2}) 2^{2^{5}} + \cdots \right)$ $\left(1 + f(3) 3^{-5} + f(2^{2}) 3^{-2^{5}} + \cdots \right)$ $F(s) = \prod \left(1 + \frac{f(p)}{p^{s}} + \frac{f(p^{2})}{p^{2s}} + \frac{f(p^{3})}{p^{3s}} + \cdots \right)$ • 1.1.1. f(72) 720 f(1) 115.1.1.1. whenever 0 > 03 (this) is, whenever = f(539) 53?⁵. 21 flad no conveged. • 1. f(3) 3 - 1. f(2) 7 - 1. f(13) 13 ---Renask: Almost the same proof shows that • f(22) 22 f(33) 33 f(5) 55 --these Enter products converge >bsotutely; in particular, the product contequal o unless one of the Tostas equils O.

 $\frac{2}{p} f(n) n^{5} = \frac{1}{p} \left(1 + \frac{f(p)}{p^{5}} + \frac{f(p^{2})}{p^{2s}} + \frac{f(p^{3})}{p^{3s}} + \cdots \right)$ | Fls) - TT (1+ flp) + flp? + ...) | ps pr + ...) | ps pr + ...) | $= 1 \underbrace{\sum_{n=1}^{\infty} f(n) n^{s}}_{n = 1} - \underbrace{\sum_{n=1}^{1} f(n) n^{s}}_{n = 1}$ Proof: Far each prime Po $\left|1+\frac{f(p)}{p^{2}}+\frac{f(p^{2})}{p^{2}}+\cdots\right| \in \mathbb{Z}\left|f(p^{k})-ks\right|$ k=0 $= 1 \leq f(a) = 1 \leq 1 + f(a) = 0$ n not y-fridhe y-fridhe $\leq \tilde{z}' |f(n)| n'' < \infty$ by assumption. So we can "infinite FaIL" a finite number if factors: < 2 1+(2) 1-5 ทรง $TT(1+\frac{1}{p^{s}}t-) = 2^{t} + 2^{t} n^{-s},$ psy ny-frizble, which tends to 0 35 yra sme FB) is absolutely convergent. vhere the y-fridble numbers lats called y-smoth) are ENEN: pin 2 peys. Hence lim TT (14 Fle) + ...) = Fls). you peg ps //Then

S for 0>1, by the theorem, Notition: · w(n) = # Idistinat prime Batas of n] $\frac{2}{n} \frac{1}{p} \frac{1}{p} = \frac{1}{p} \left(1 + \frac{1}{p} + \frac{1}{p} + \frac{1}{p} \right)$ · SLA) = #Eprime fockets of n with multiplicity 3 $= TT(1 - \frac{1}{p^{s}} + \frac{1}{p^{2s}} - \frac{1}{p^{s}} + \frac{1}{y^{s}} - \frac{1}{p^{s}})$ Example: 539=7²·11, 20 w/539)=2 m/ 52(539)=3. · The Liouville lombdo-function is = $TT - \frac{1}{1 - \frac{1}{2}} = TT(1 + p^{-5})^{-1}$.
$$\begin{split} \lambda(n) = (-1)^{3(n)} \quad (Nste that \\ \lambda(n) = \mu(n) \quad if and my ff n is squarefree) = \underbrace{\text{Exercise}}_{n=1}^{p} \quad Show that \underbrace{\underbrace{2^{1}}_{2}\chi(n)}_{n=1}^{n=2} = \underbrace{\underbrace{3(25)}_{3(5)}}_{n=1}^{n} \\ (nt's find an Earlier product for the line to th$$
let's fin an Duks product for 2 xm)n-s (since Xn) is totally m=1 muttiplicative). Note that $\frac{2}{N} \left[\lambda_{m} \right]_{n}^{s} = \frac{2}{N} \left[n^{-\sigma} \right]_{n=1}^{s}, s_{0} \sigma_{a} = L$

Example: For ors, the Euler product d (Ly KS) = Z d n S S K, if n=pk, ds n=, ds n lo, otherwise g(s) = TT(1-p-s)⁻¹ converges dosolutely, $3'(3) = 2'(-logn) n 7''_{k}, fn=p^{k},$ $3(5) = 2'(-logn) n 7''_{k}, fn=p^{k},$ n=and so $\log 3(s) = \frac{1}{p} \log (1 - p^{-5})^{1}$ Define Mondobe the von Mongolet $= \sum_{p=1}^{2} \sum_{k=1}^{2} \left(p^{-s} \right)^{k}$ Lombob function MAD = Jbg P, If n=pk for som K=N, k=N, = Z k (pk)⁻⁵ (by obsolute convergence). This is a Diricht Then $5G = 2 \Lambda(n)n^{-5}$. 365 = n=1 Serleg : $|_{\mathcal{S}} [G] = \sum_{n=1}^{\infty} n^{-s} \int_{\mathcal{O}_{s}}^{1/2} if n^{-s} p^{k}$, $h^{-s} \int_{\mathcal{O}_{s}}^{1/2} if n^{-s} p^{k}$, $if n^{-s} p^{k}$, $h^{-s} p^{k}$, h^{-s} Exercise: Show that Z'A(d) = bg n. Toke derivatives of both sides Thus A * 1 = log; 8 & orl, (tem-by-term on the RHB, by local uniform convergence at Divichtet artisk $-\frac{3}{5}(3) \cdot 5(5) = \frac{3}{2}(5) - \frac{3}{5}(5)$

Recoll 1/5] = I'-1)n-1n-5. (2) Note that (- M⁻¹ is multiplicative! - it takes the value -1 on any 2" We'll prove twice that y(5) = (1-21-5) \$(5) and the value +1 on any old pk. for o>1. $(1) For or o_a = 1,$ So for 0>1 we have the Earle product $\eta(s) = 1 + (2^{-s} - 2 \cdot 2^{-s}) + 3^{-s}$ $\eta/s) = TT(1 + \eta/p) + \eta/p^2 + \cdots)$ p p^s p^{2s} + ···) + $(4^{5} - 2 \cdot 4^{-5}) + 5^{-5} + (5^{5} - 2 \cdot 5^{5})$. $= (1+2^{-5}+3^{-5}+4^{-5}+\cdots)-2(2^{-5}+4^{-5}+5^{-5}+\cdots)$ $= \left(1 - \frac{1}{2^{5}} - \frac{1}{2^{2}} - \cdots\right) \frac{1}{11} \left(1 + \frac{1}{p^{5}} + \frac{1}{p^{2}} + \cdots\right)$ $p \ge 3 \qquad p^{2} \qquad p^{3} \qquad p^{3} \qquad p^{3}$ -3 $S(s) - 2 \cdot 2^{-s} (1^{-s} + 2^{-s} + 3^{-s} + -)$ $\begin{array}{c} \underbrace{\left(1-\frac{1}{2^{3}}-\frac{1}{2^{2s}}-\cdots\right)}_{2} & TT\left(1+\frac{1}{2}+\frac{1}{2^{s}}+\cdots\right) \\ \underbrace{\left(1+\frac{1}{2^{s}}+\frac{1}{2^{2s}}+\cdots\right)}_{2} & p \ge 2 \\ \underbrace{\left(1-\frac{1}{2^{s}}\left(1-\frac{1}{2^{s}}\right)^{-1}\right)}_{2} & p \ge 2 \\ \underbrace{\left(1-\frac{1}{2^{s}}\left(1-\frac{1}{2^{s}}\right)^{-1}\right)}_{2} & f(s) \\ \underbrace{\left(1-\frac{1}{2^{s}}\right)^{-1}}_{2} & f(s) \\ \end{array} \right)$ = 5G) - 2-2⁻⁵.5G).

 $\eta/5) = 2 ED^{n-1} = (1-2^{1-5}) SQ.$ Notition- 3x3 = x - Lx] is the Fisctional-post function. Fas examples Observation: We proved this identity $\{1,23\} = 0.23, \{5-1,23\} = 0.77,$ tor orl- But for MGD we Sow $3\pi 3 = \pi - 3$, 35333 = 0. Flexible representation of JSD: that of =0, so that you is prolytic for 0 > 0. Thus meromorphic (H) $S(5) = \frac{1}{5} (1-2^{1-5})$ is an onolytic Theorem 1.12 - For any X>0, and for any SZI with and, $\begin{array}{c} S(s) = \underbrace{\sum_{n=1}^{j} \sum_{n=1}^{j} + \underbrace{x^{j-s}}_{\infty} + \underbrace{\frac{3x^{s}}{2}}_{\infty} \\ n \leq x & \underbrace{3-1}_{\infty} + \underbrace{x^{s}}_{\infty} & \underbrace{3x^{s}}_{\infty} & \underbrace{3x^{s}}$ contration of 562 to 070 denominator has zeros ξ St $S = 1 + \frac{2\pi i}{\log 2} k$, $\lambda ll k \in \mathbb{Z}$. - 5 J Juz u-5-Uu. Prof: Start by assuming or >1. Then $S(5) = \frac{5}{2}n^{-5} + \frac{1}{n^{-5}}n^{-5}$. Exercises show using (3) that glas Was a simple pole of 5=1 with residue 1.

Now $\sum_{n>x}^{I} n^{s} = \int_{x}^{\infty} u^{s} dLu dLu d$ $\sum_{n>x}^{I} u^{s} = \int_{x}^{\infty} u^{s} dLu dLu d$ $\sum_{n>x}^{I} u^{s} dLu dLu d$ Study & Stude converges for 0>0; here $-\frac{u^{1-5}}{1-5} \int_{x}^{\infty} - \left(\frac{-55}{4} \frac{3}{5} \int_{x}^{\infty} - \frac{55}{5} \frac{3}{5} \frac{3}{5} \frac{3}{5} - \frac{55}{5} \frac{3}{5} \frac{$ the PHIS of (4+2) is analytic werywhere in 20003 except 5=1. $= 0 - \frac{x^{-1}}{1-s} - (0 - \frac{1}{2}x\frac{1}{5}x^{-s})$ So tood helds by ondight continuition. + $\int z_{u}^{2}(-z)u^{-1}du$. Consequerces of Good? · When x=1, we set This proves (4xx) for n>1. But $\sum_{n=1}^{n} \frac{x^{1-s}}{x^{1-s}} + \frac{5x^{2}}{x^{2}}$ is analytic everywhere $\frac{9(s)}{(s)} = 1 + \frac{1}{s-1} + 0 - s \int \frac{9u^{2}u^{-s-1}}{1} \frac{1}{s-1} \frac{1}{s-1} + 0 - s \int \frac{9u^{2}u^{-s-1}}{1} \frac{1}{s-1} \frac$ Thus $g(s) - \frac{1}{s-1}$ has a remarable except s=1; nuseave, singularity of 5=1, with value $T_{hus} = \frac{1}{s-1} + C_0 + O(1s-11)$ Near = 1. $\leftarrow C_0 = | - \int \overline{f_u} \overline{f_u}^2 du \stackrel{\wedge}{\to} 0.572.$

· Also for orD, St1: $\frac{2}{n^{-s}} = \frac{x^{1-s}}{1-s} + \frac{5}{s} + \frac{1}{s} + \frac$ $= \frac{1-5}{1-5} + \frac{5}{5} + O\left(\frac{-5}{1+1}\left(1+\frac{1}{5}\right)\right).$ So: if s>1, then $Z' n^{s} = S(S) + O_{S}(x^{1-s}).$ nsx of ocsels then $2n^{-5} = \frac{x^{1-5}}{1-5} + 9(s) + O_{s}(x^{-5}).$ nsx $\frac{1}{2} \sum_{n=1}^{\infty} \frac{1}{2} = 2\sqrt{x} + \frac{1}{2} + O(\frac{1}{\sqrt{x}}).$ nsa